Virginia High School League

Scholastic Bowl, 2000-01 season

State Competition, Match #4


These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the State level by Shawn Pickrell. These questions are to be used by the Virginia High School League to conduct their Scholastic Bowl competition under the following conditions, which must be known by all coaches, competitors and spectators of the competition.
(a) Release of these questions to any entity not affiliated with the Statecompetition or the schools that are members of the given State before all State champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all State champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.

First period: 15 toss-ups
1.
This 19th century British artist sued art critic John Ruskin who had dared to criticize his Nocturne in Black and Gold: The Falling Rocket. He won, but only won a farthing in damages, breaking his bank account and ruining his career. Who is this artist for his portrait of Thomas Carlyle that presumably had the support of his mother?

ANSWER: James WHISTLER
2.
An employee has been with a company for three years. What term is used to describe how the employer’s matching 401(k) contributions or stock options now fully belong to the employee?

ANSWER: VESTING or VESTED
3.
What name is given to a named description of a set of objects in computer science that share the same attributes, operations, relationships, and semantics, and form the backbone of object-oriented programming?

ANSWER: CLASSes

First period (continued)

4.
It functions with a metal tube in the middle to let gas in, and has an adjustable sleeve in the side that regulates the airflow into the device. When the air is shut off, a luminous, smoky flame is viewed, but when the air is turned on, a faint flame with a hot outer shell and a luminous blue cone is observed. What is this common piece of laboratory equipment?

ANSWER: BUNSEN BURNER
5.
What five-letter word starting with T and taken from the Middle English word for a station to which game was taken, is used to describe a pre-arranged secret meeting between lovers?

ANSWER: TRYST
6.
Every Man In His Humour, Every Man Out Of His Humour, Volpone and The Alchemist are all plays written by what playwright who was second only to Shakespeare’s in the Golden Age of Elizabethan theatre?

ANSWER: Ben JONSON

7.
What name is given to the process of converting elemental nitrogen into compounds containing nitrogen, something that is done by lightning, bacteria contained in root nodes and other processes?

ANSWER: NITROGEN FIXATION
8.
THIS IS A COMPUTATION QUESTION. A mine digger can cover 350 square feet, but it takes him 15 minutes to do this. If he starts going through a 100 by 35 field at 9 AM, at what time will he finish the field?

ANSWER: 7 PM (3500 square feet in the field, so 10 hours of work)

9.
The Patrons of Husbandry were a group formed in 1867, and sought to reduce railroad fares, end monopolies and establish agricultural and technical colleges. By what name was this farmer’s group better known?

ANSWER: The National GRANGE or the GRANGERS

First period (continued)

10.
What composer wrote the ballet The Miraculous Mandarin and the musical works Hungarian Folk Songs, Hungarian Peasant Songs, and Hungarian Peasant Songs and Dances?

ANSWER: Bela BARTOK
11.
Roadwork is occurring on the north side of a street, forcing businesses there to lose 10% of their business every day. If there are 40 business on that street with an normal gross of $2,000 per day and the roadwork occurs for 5 days, how much do the businesses lose?

ANSWER: $40,000 ($200 * 40 = $8,000 and 5 days is $40,000)

12.
He led 1,000 men called the Red Shirts and conquered Sicily and Naples, and then handed over his territories to Victor Emmanuel II of Sardinia. Who was this hero of Italian unification?

ANSWER: Giuseppe GARIBALDI
13.
Ford Madox Brown, William Holman Hunt and Dante Gabriel Rosetti were among the main members of what 19th century art movement which sought to bring English art back to a greater ‘truth to nature’, sharing an affinity for 15th century art that made them feel as if they were a brotherhood?

ANSWER: PRE-RAPHAELITE brotherhood

14.
The narrator is looking for a Reverend Leonidas Smiley, but the long-winded Simon Wheeler tells the narrator of a Jim Smiley who owned a frog named Daniel Webster, and of his eventually being duped by a quick-thinking stranger. What is this short story by Mark Twain about a jumping frog?

ANSWER: THE CELEBRATED JUMPING FROG OF CALAVERAS COUNTY
15.
Snails and slugs are members of what class which is a part of the phylum Mollusca?

ANSWER: GASTROPODA
Second period: 10 directed questions

Read the questions marked with “A” to the team that selected question set A and the questions marked with “B” to the team that selected question set B.
1A.
With what philosophy is Ayn Rand most associated?

ANSWER: OBJECTIVISM
1B.
THIS IS A COMPUTATION QUESTION. It takes two minutes to filter out the solute from a liter of a 5% solution. How long will it take to get half a liter of solute?

ANSWER: 20 minutes (50 mL every two minutes yields 20 minutes to get 500 mL)

2A.
What part of the brain regulates body temperature, thirst, hunger, metabolism, pain, sex and rage?

ANSWER: HYPOTHALAMUS
2B.
What dynasty ruled France during the Hundred Years’ War and ended with the death of Henry III, allowing the Bourbons to rule France?

ANSWER: VALOIS
3A.
THIS IS A COMPUTATION QUESTION. An angle, when doubled, has a supplement of 74 degrees. What is the measure of the angle?

ANSWER: 53 DEGRESS (the angle, when doubled is 106 degrees. Therefore the angle is 53 degrees.)

3B.
Who wrote the sonnet, ‘Death, Be Not Proud’, which was one of his 19 ‘Holy Sonnets?’

ANSWER: John DONNE
4A.
What is the capital of Belarus?

ANSWER: MINSK
Second period (continued)

4B.
Miko Djukanovic is determined to push for an independence referendum for what Yugoslav republic that has not yet broken off from Serbia?

ANSWER: MONTENEGRO
5A.
Who is the English poet most famous for the poem ‘Dover Beach?’

ANSWER: Matthew ARNOLD
5B.
What name is given to the number written in front of a formula in a chemic equation?

ANSWER: COEFFICIENT
6A.
How many times in a day is an observant Muslim supposed to pray?

ANSWER: FIVE
6B.
THIS IS A COMPUTATION QUESTION. A map has a scale of 1 inch equaling 250 miles. How many miles would be in a five-inch trip?

ANSWER: 1,250
7A.
What is the name of the innermost layer of the atmosphere?

ANSWER: TROPOSPHERE
7B.
The Mau Mau uprising led by Jomo Kenyatta is associated with the independence of what African nation?

ANSWER: KENYA
8A.
THIS IS A COMPUTATION QUESTION. What two binomials are the factors of 3x squared plus five x minus two?

ANSWER: X PLUS TWO and THREE X MINUS ONE
8B.
What ten-letter word is taken directly from two German words meaning wonder child?

ANSWER: WUNDERKIND
9A.
In 1619, Virginia established what institution which had 22 members, two selected from each town, hundred or plantation?

ANSWER: HOUSE OF BURGESSES
Second period (continued)

9B.
Who starred as Marion Crane in the 1960 movie Psycho?

ANSWER: Janet LEIGH
10A.
What 1976 Nobel Literature Prize winner wrote The Adventures of Augie March and Humboldt’s Gift?

ANSWER: Saul BELLOW
10B.
What law in physics states that in a closed system, the entropy does not decrease?

ANSWER: SECOND LAW OF THERMODYNAMICS
Third period: 15 toss-ups 

1.
THIS IS A COMPUTATION QUESTION. A door made of adamantium is 6 feet wide by 10 feet tall by 6 inches deep. Assuming adamantium costs 3 gold pieces per cubic inch, how many gold pieces is the door worth?

ANSWER: 12,960 gold pieces (6 * 10 * ½ = 30 square feet, 30 * 144 = 4,320 square inches 4,320 * 3 gp = 12,960 gp)

2.
The Becquerel is the SI unit for measuring what sort of activity, which the scientist Becquerel discovered in the late 19th century?

ANSWER: RADIOACTIVITY 

3.
The New York Yankees have announced a marketing deal with what English soccer club that can potentially be worth billions?

ANSWER: MANCHESTER UNITED or The SCUM
4.
What Edgar Rice Burroughs character is the son of an English nobleman abandoned during infancy in the African jungle, and brought up by apes?

ANSWER: TARZAN
5.
This term is used to describe the adverse stimuli given after undesirable behavior in the hope that the behavior will not be repeated. What is this term that is associated with the words corporal or capital?

ANSWER: PUNISHMENT
6.
The New York legislature had granted a monopoly for operating steamboats in New York waters. Another man had been granted a federal license to run a ferry between New York and New Jersey. The two sued, and the Supreme Court eventually decided in what 1824 case to invalidate the New York monopoly?

ANSWER: GIBBONS v OGDEN
Third period (continued)

7.
The Baltimore Gun Club is bored after the end of the Civil War. They then create a plan of creating a giant cannon, situated in Florida, that would shoot members in a ‘space bullet’ to the Moon. This is the central premise of what novel by Jules Verne?

ANSWER: FROM THE EARTH TO THE MOON
8.
Ex-wife Denise was instrumental in getting a pardon for what financier who had been a fugitive in Europe since 1983?

ANSWER:  MARC RICH
9.
This object receives its name from the fact that it can measure angles of up to 60 degrees, or a sixth of a circle. What is the name of this navigational aid that determines the angle between the horizon and a celestial body, such as the Sun or moon, and is used to determine latitude and longitude?

ANSWER: SEXTANT
10.
THIS IS A COMPUTATION QUESTION. The Green Party candidate must get a 5% vote out of the electorate of 900,000 to be automatically included in next year’s ballot. If the candidate got 32,000 votes, by how many votes did the candidate fall short?

ANSWER: 13,000 (45,000 – 32,000 = 13,000)

11.
What name is given to a spiral motion of fluid within a limited area, especially a whirling mass of air or water that tries to suck everything in it to the center?

ANSWER: VORTEX (prompt on whirlpool)

12.
What name is given to the three periods placed to represent a part of a quote that has been left out in a research paper, or to leave a thought ‘trailing?’

ANSWER: ELLIPSIS
Third period (continued)

13.
What common tactic of punt returners is not permitted in XFL rules?

ANSWER: FAIR CATCH
14.
In 1948, the Charter of Bogota established what organization which is composed of all North American, Caribbean and South American nations?

ANSWER: ORGANIZATION OF AMERICAN STATES (OAS)

15.
THIS IS A COMPUTATION QUESTION. What is the indefinite integral of the function 2x plus 3?

ANSWER: X SQUARED PLUS 3X PLUS C (must have the Plus C do not accept without)

Spares
What name is given to the transport and movement of materials out of the cell?

ANSWER: EXOCYTOSIS
THIS IS A COMPUTATION QUESTION. If the height of an isosceles triangle is 5 inches and each leg is 12 inches, how long is the base?

ANSWER: TWO SQUARE ROOTS OF 119 (each half of the triangle is a 5xNx12 right triangle. Use the Pythagorean theory to get N = the square root of 119, so the base is 2N.)

What 20th composer invented the 12-tone method?

ANSWER: Arnold SCHONBURG
Who is the brilliant Greek general most famous for switching sides several times during the Peloponnesian War?

ANSWER: ALCIBIADES
What of Arthur Miller’s plays makes a comparison between the McCarthy witch-hunts and the actual witch-hunts of Salem, Massachusetts in 1692?

ANSWER: THE CRUCIBLE
All questions © 2001 by Shawn Pickrell. Unauthorized use, as described on the first page of this document, is prohibited.

